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1. Circle the correct answer

(a) If the normal to z = f(z,y) at (2,1)isz=2+2t, y=1—1t, z=1—t, then the linearaization of
flz,y) at (2,1) is
i L(z,y)=2z—y—1
il L(z,y)=—2z+y+1
Cii. P(z,y) = 22—y -2
iv. L(z,y) =2z —y+2
v. None of the above
(b) An estimate change of f(z,y) = In/z? + y? when the point at (3,4) is moved a distance ds = 0.1

away from the origin is
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(c) The parametric equations for the line tangent to the curve of intersection of the surfaces
2+ y?=4dand 2 +9* — 2z =0 at (V2,v2,4) is
=2+t y=v2-t, z=4
Cii/e=v2—t, y=v2+t, z2=4
i, z=v2+ V2 y=v2+V2t, z=4
v. 2=V2-V2, y=v2-2, z=4

v. None of the above
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" 2. If f(z,y) =1+ y + zcos(y), then find
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(b) The maximum error in using L(z,y) at (0,0) to approximate f(z,y) over the region |z| < 0.2 and
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